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1) Combine | 2) You are driving at 108 miles/hour. Convert
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[osE Algebra 1 Unit 0 Test Review Name:

1

. Simplify the following.

Jimmy is spending twelve less than double the amount of money that Jane spends on groceries. If Jane spends x
‘amount of dollars, write an expression that represents the amount that Jimmy spends. By Z

Ashley is 6 years less than triple her grandfather's age. What w%tzme expression for this?

. Weare building a pen for our pigs. One side i 4 less than triple Y other. Write an expression for the perimeter so C’#M

youknow how much fencing to buy for the pigs?
)
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Multply the following polynomials.
a (4r—1)(Ex+4)
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16. The approximate distance from EICHS to Walmart i 18 miles. Whatwould be the distance centimeters?
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21, The sum of two Irrational number IMJ@nw-ﬂnﬂmnul (circle the best choice)
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13.) Jane noticed that her faucet was
dripping. She later figured out that the
rate of dripping was 50 drops every
minute. I 20 drops equals 1 milliter,
how many liters peryear is the faucet
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How many gallons a year s the faucet
leaking? (1 gal =3.79 Iiters)
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5.) The tension caused by a wave
mévingalong a string is found using
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Rational and Irrational Number Sort

Directions: Sort the numbers and words into 2 groups - rational or irrational. Write
the answers in the appropriate group.
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1) Muttiply 2) Slmpllfy’i%)(z Zxﬂ +X Vg0
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3) Timmy has 50 gallons of sweet . 2)( W v/
tea. How many cups can he =
serve to his guests? IV ]
— -
gt . ,%’ L B
\ [ 74 ?K 4) You are building a shed. You
- know that one side needs to be
four feet less than the other. What
is the perimeter of your shed?
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